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Putting strategy into practice

some stimulus material

BT has recently launched a software reseller in describes an attempt to break into the small and medium sized enterprise (SME) market. 

The news follows last week's announcement that BT will go up against voice and data convergence resellers through its Business Information Systems arm. 

The offshoot, to be known as Open Orchard will offer general business software packages to SMEs including customer relationship management, enterprise resource planning, and web trading and general accounting applications. A £6m digital marketing campaign has already been launched. 

Yvonne Thomas, the reseller's chief executive, claimed that BT has a good pedigree in this market. "BT has a major place in the SME market with 1.4 million customers and 2,000 staff focusing on the SME space," she said. 

Open Orchard will negotiate terms with vendors using BT's purchasing clout. "We are able to leverage the BT Group's buying power and buy direct from suppliers using BT's strategic purchasing division and can offer more robust contracts than smaller resellers," explained Thomas. 

She added that the combination of products, integration and support would 
The theory 

Corporate strategy is aimed at the long-term position of the business. They will be looking some way into the future. Should they expand, if so in what direction? These are the strategic decisions that will affect the business at every level of its operations. They can come in various shapes, sizes and directions. The retention of profits and the ‘internal’ routs is one way forward but many select the non-organic route and buy over others in take-overs. Mergers might help but then identity becomes a problem. Other ways of expanding include developing collaborative ventures, forming alliances and hook-ups and other associations. 

For a growing number of businesses the opportunity to expand overseas is now an exciting option. By being successful in one market you might have the distinct advantage to be attractive to other markets. By producing in greater amounts and possibly in lower cost centres you can gain economies of scale.  Other characteristics that might promote international expansion include having skills and technical competence not possessed by the national economy into which a move is envisaged. A company might also customise products to suit local tastes, beliefs and customs. e.g. Macdonald’s do not use beef in their burgers in India, where the cow is sacred to many Hindus. In Europe and in the US they are now introducing ‘healthier options’ to their main menu.
Implementing Strategy
Having prioritised the main objectives of the company the next task is to implement these. To have the best chance of achieving this most businesses follow a pattern that involves:

· getting the organisational structure in place – do we use a regional structure, or a product based system, or deal with individual customers? Will the organisation be best suited to a flatter management structure or should a more hierachal approach be used?

· Organising modern systems of control – this does not simply mean setting targets and monitoring success. No, it means building a corporate culture that sees organisation, delivery, and customer focus and performance indicators as central to the business. Decisions will be needed on objectives, methods of payment, leadership styles and evaluating of personnel performance.

· Putting change into action – any change means leaving behind something that was once the property of all connected to it. This is not an easy process to engineer.  Whatever phrase is used to smooth over the operation; be it re-engineering, Kaizen Total quality management, Kamban or any other people have to be carried with the change. If not, it could be doomed.

If a major change is to be considered successful we have to be able to measure it. Selecting say earnings and see often does this if these have risen. The number chosen might refer to per employee, per capital invested or per square foot of selling space. Whatever is selected it will need careful analysis to make certain that what appears to have happened actually has. With profit central to any business operation it is often the prime number used to support the success of an organisational expansion or re-focus. This allows return on capital employed (ROCE) to be calculated and analysed. It s also sometimes worth noting competitors and seeing how they are doing. Have they stolen a lead on us and why? Or are we ahead of them and again why?

Make certain you fully understand the meaning and implication of:

· Competitive advantage – the advantage(s) we have over our rivals

· Synergy – where the operations of two or more businesses brought together create a greater amount of value than they did when separate.

Some questions

1.Explain what is meant by the terms (a) strategy and (b) economies of scale

2. Why does BT see itself as part of the SME market?

3. In what ways might a global stance improve the performance of a business?

4. What problems might BT face in implementing its strategic plans for the SME software market?

Some possible answers

1 (a) Strategy means the long-term plans of a business or organisation that are designed to allow it to achieve its major objectives. (b) is when the value added by combining the operations of two previously separate businesses is greater than when they were separate concerns?

2. The market of 1.4 million customers is obviously attractive to BT and its collective staff talents. They have spent £6million on advertising the new arm to their corporate business division.  BT believes that it ‘has purchasing clout’ and must be confident that its pricing policy will be attractive to prospective customers. They can buy direct from suppliers and offer robust contractual terms. As such they should be able to build a presence in a growing market. By developing in this way they are trading on known strengths of the business and should see some synergy emerge. They intend to offer a quality support service and so attract customers with a ‘package’ that appeals both on price and non-price factors.

· the relaxation of trade barriers that are now more apparent in most markets

· the opportunities to practice competitive advantage in more markets than just the domestic one

· make use of technical change and IT opportunities

· make use of de-regulation and privatisation around the world

· the standardisation of customer tastes

· economies of scale

· low-cost production and distribution locations

· joint ventures and licensing agreements

4. As the closing remarks show ‘small businesses need close relationships with suppliers and BT is not always known for its customer relations. They will have to make certain that a strategic decision is implemented lower down the chain of command. They admit to having missed growth and revenue targets by not focusing and understanding the very market in which they now want to make a success. Competitors will be looking to exploit competitive advantages, such a familiarity with customers and show that big is not necessarily good. They have potential cost advantages but have not been known to have a good track record in this particular market. They will need to look carefully at the organisational structures put into place to meet customer requirements and expectations. The product range will have to add value to customer businesses and be seen to have an excellent back-up and support package. If they get it wrong their image and quite a large sum of money will have been lost. Strategic plan are one thing actually putting them into practice is another.

